B OfF x B =
(CFrk2 943 A 3 1 AHLE)
(B : 1)
P H HOFE K Al O 1 I3
I HEOH
1 WREVEPE
W@ T 9,777,580| 8,640,557 1,137,023
AU 4B 7,321,561 7,109,083 212,478
[FEINe 0 0 0
MENVE PER T 17,099,141[15,749,640] 1,349,501
2 BEEEE
(1) FeEEPE
[i6] 2 ¥ PE HUAG R AL P 0 0 0
W BOE & B FE L E PE 2,500,000] 2,500,000 0
FrEREGTT 2,500,000| 2,500,000
(2) % D[ & &
B A 1,553,998 1,849,216 N295,218
A2l i 439,585 639,430 AN199,845
T an N AHME 72,000 72,000 0
THRL® 30,140 30,140 0
DA EEEAF ,095,723 2,590,786 AN495,063
i & & EE A 4,595,723 5,090,786 AN495,063
TREEAHF 21,694,864|120,840,426 854,438
o AfEOH
1 JmE A
EXo 6,121,216 6,128,900 ANT7,684
Y & 171,701 169,413 2,288
mEAEEs 6,292,917| 6,298,313 A5,396
2 HEAR
& AEGE 0 0 0
AfEaE 6,292,917| 6,298,313 A5,396
M ERRMEDE
1 fEEIERE 0 0 0
2 —MRIERMPE 15,401,947|14,542,113 859,834
(9B, FeEBE~DILE) 2,500,000] 2,500,000 0
IEBRMPEG BT 15,401,947[14,542,113 859,834
A OVEBRU PES B 21,694,864|120,840,426 854,438




